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PART - A

- GENERAL ABILITY AND INTELLIGENCE

1. A person starts from a point P and walks 1 km
along a straight line and then turns to his
right and walks straight for 2 km. After that,
he turns to his left and walks for 3 km to
reach a point Q. What is the straight line
distance of the point Q from the point P ?

(a) 5km

() 2v5 km
(¢) 2v6 km
(d) 45km

2. A solid metal ball of diameter 10 cm is melted
and cast into smaller balls of diameter 1 cm.
How many such small balls can be made ?

(a) 250
(b) 500
(c) 1000
(d) 100

3.  In a certain code language, CAR is written as
ECT, DOG is written as FQI and SUN is
written as UWP. What is the code word for
BET?

(a) DHU
(b) EGV
(¢) CFU
(d) DGV
SQLH-A-SDP
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(3-A)

What is the value of the following sum ?

1x2+2x22+3x28+4x2%+......+10x 210
(a)
(b).
(¢ 10x2M1-2
(d)

9x21149
10x 2114+ 2

9x211_29

If the sum of a real number and its reciprocal
is equal to 5, then what is the sum of the

squares of the number and its reciprocal ?

(a) 25

(b) 24
(e} 23
@ 22

If a > b are two real numbers such that
a + b =10 and a2 + b? = 52, then what is the

valueofa—b ?

(a 1
b) 2
() 3
d 4

The average marks of 40 students in a class is
59 and after removing the highest mark, the
average of the remaining 39 students is 58.
What is the highest mark in the class ?

(a) 98

(b) 99
(e) 97
(d) 100
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8. If the LCM and HCF of two positive integers
are 18 and 3 respectively, then what is the
minimum possible value of their sum ?

(a) 21
(b) 15
() 18
(d 16

9. If a shopkeeper sells an item ‘A’ at 20% profit
and item ‘B’ at 25% profit, then the total profit
made is T 120. If he sells item ‘A’ at 25%
profit and item ‘B’ at 20% profit, then the total
profit made is ¥ 105. What is the sum of the
cost price of items ‘A’ and ‘B’ ?

(a) ¥ 300
(b) T 400
() T 500
(d ¥ 600

10. Consider a square of side length 2 m. What is
the difference of the areas of the circumscribed
circle and the inscribed circle (in m?) ?

(a) 3n/2
(b) w2
(¢) 2m
d =

11. Which one of the following is a characteristic

feature of Market Gardening ?

(a) Farms are of very large size.

(b) Netherlands is an example of Market
Gardening.

(¢0 It is well-developed in sparsely
populated areas of North-West Europe.

(d) This is practised in the areas where
consumers of low income group are
located.
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Which one among the following is the most
important reason for female migration in
India ?

(a) Work/Employment
(b) Marriage

(¢) Education

(d) Business

The idea of Ecological Succession was first

formally coined by

(a) Charles Darwin.
(b) Clements.

(¢) Sir A. Tansley.
(d) Emberlin.

Which one among the following is
northernmost located city of India ?

(a) Patna

(b) Kolkata
(¢) Guwabhati
(d) Kohima

Which one among the following is the place of
confluence of the rivers Alaknanda and
Bhagirathi ?

(a) Vishnuprayag
(b) Karnaprayag
(¢) Devprayag

(d) Rudraprayag
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In which one of the following rivers is the
Majuli river island situated ?

(a) Ganga

(b) Godavari

(c) Brahmaputra
(d) Kaveri

Lake Great Bitter is the part of
(a) Panama Canal.

(b) Grand Canal.

(c) Suez Canal.

(d) Soo Canal.

Neyveli, Singareni, Korba and Singrauli are
mines, which produce

(a) Mica.
(b) Iron ore.
(¢) Bauxite.
(d) Coal.

Which one among the following is the largest
land-locked country in terms of geographical
area ?

(a) Mongolia

(b) Kazakhstan

(c) Afghanistan

(d) Bolivia

50° South Latitude passes through
(a) South Africa.

(b) Australia.

(¢) Argentina.

(d) Uruguay.

Which among the following was/were the
shell-based production centre(s) of the Indus
Valley Civilization ?

(a) Shortughai

(b) Lothal

(¢) Balakot and Nageshwar

(d) Allahdino and Dholavira

22,

23.

25.

(7-A)

Which among the following was/were the
capital(s) of the Magadha Janapada ?

1. Rajgriha
2 Patliputra
3. Champa
4 Vaishali

Select the correct answer using the code given
below :

(a) 1land4
(b) 1land2
(0 2and3
(d) 2only

Who among the following European travellers
was the physician of Prince Dara Shukoh ?

(a) Francois Bernier

(b) Niccolao Manucci

(¢) Jean-Baptiste Tavernier

(d) Jean de Thévenot

Narayan Pandit’s Hitopadesha is considered
to be another version of

(a) Panchatantra.

(b) Lilavati.

(¢) Brihatsamhita.

(d) Panchasiddhantika.

Early Bhakti Saints, Alvars in South India

were immersed in the devotion of

(a) Ram.

(b) Krishna.
(¢) Shiva.
(d) Vishnu.
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26. Krishnadevaraya’s capital city Vijayanagara|81. Kushanas were the descendants of which of

was situated on the banks of the following Central Asian Tribes ?
(a) Tungabhadra. (a) Hiung-nu

(b) Krishna. (b) Wu-Sun

(¢) Godavari. (¢) Little Yueh-Chi

(d) Mahanadi. (d) Great Yueh-Chi

27. When was tobacco introduced in Northern|32. Who among the following introduced the

India ? policy of ‘Doctrine of Lapse’ ?
(a) 150 century (a) Lord Cornwallis
(b) 16 century (b) Lord Wellesley

(¢) Lord Hastings
(d) Lord Dalhousie

(¢) 170 century
(d 18h century

28. Which one of the following was the homeland 83. The first session of the Indian National

Congress was presided over by

of Babur ?

(a) Farghana (a) A.O.Hume.

(b) Samarkand (b) W.C. Bonnerjee.

(c) Bukhara (¢) Dadabhai Naoroji.

(d) Sogdiana (d) Surendranath Banerjee.

29. In the Mesopotamian records, the Indus 34. Gandhiji's first great experiment in

Valley region is addressed as Satyagraha was at

(a) Meluha. (a) Champaran.

(b) Dilmun. (b) Ahmedabad Mill Strike.

(¢0 Magan. () Kheda Satyagraha.

(d Uruk. (d) Satyagraha against Rowlatt Act.

30. According to Jaina tradition, who was the first 35. In Jainism, which one of the following does

Jain Tirthankara ? not form part of tri-ratna ?

(a) Rishabhadeva (a) Samyak panch-mahavrata
(b) Neminatha (b) Samyak jnana

(¢) Parshvanatha (¢) Samyak charitra

(d) Vardhaman (d) Samyak darshana
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86. Which one of the following statements is

correct ?

(a) Weight of an object may vary from place
to place but its mass remains constant.

(b) Mass of an object may vary from place to
place but its weight remains constant.

(¢) Both weight and mass of an object do
not vary from place to place.

(d) Both weight and mass of an object vary

from place to place.

87. A 100 W electric bulb is used for 8 hrs/day.
What would be the units of energy consumed

in the month of April ?
(a) 24 units

(b) 16 units

(¢) 8 units

(d) 0-8 units

38. The equipment used to measure the electrical
current in a closed circuit is

(a)
(b)
(c)
(d)

Galvanometer.
Ammeter.
Voltmeter.

Compass needle.

39. An electric generator primarily converts

(a)
(b)
(c)
(d)

electrical energy to heat energy.
electrical energy to sound energy.
electrical energy to mechanical energy.

mechanical energy to electrical energy.

40. Light waves are

(a)

progressive in nature.

(b) mechanical in nature.

(¢) longitudinal in nature.

(d) transverse in nature.
SQLH-A-SDP
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Which one among the following is a
non-luminous object ?

(a) Sun

(b) Candle
(¢) LED bulb
(d) Moon

Sodium chlorate is used in

(a) textile printing and dyeing.
(b) match industry.

(¢) antiseptics.

(d) disinfectants.

Who among the following is known as the
Father of Nuclear Physics ?

(a) E.Rutherford
(b) J.J. Thomson

(¢) Niels Bohr

(d) James Chadwick

pH of blood is
(a) 70

(b) 65

(0 715

(d) 740

Conversion of limestone to quick lime is an

example of

(a) decomposition reaction.
(b) substitution reaction.
(¢) combination reaction.

(d) double decomposition reaction.
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46. Chips bags contain which gas ? 51.
(a) Oxygen
(b) Hydrogen
(¢) Carbon dioxide
(d) Nitrogen

47. When electricity is passed through brine, it
produces 52.
(a) NaCl
(b) NaOH
() KCI
(d) KOH

48. Isotope of Cobalt is used in the treatment of
(a) Cancer. L
(b)  Goitre.

(¢) Beriberi.
(d) Crohn’s disease.

49. The two elements which are present in
proteins but generally absent in carbohydrates 4.
are
(a) Carbon and Hydrogen.

(b) Carbon and Nitrogen.
(¢) Nitrogen and Sulphur.
(d) Sulphur and Hydrogen.
50. Which one of the following is a plant|z5,
hormone ?
(a) Oestrogen
(b) Cytokinin
(¢) Insulin
(d) Thyroxin
SQLH-A-SDP (13-A)
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Which one among the following animals can
perform respiration either through gills or
through lungs ?

(a) Fish
(b) Frog
(¢c) Snake
(d) Cow

The tissue which is responsible for movement
in our body is

(a) Connective tissue.

(b) Muscular tissue.

(¢) Nervous tissue.

(d) Epithelial tissue.

In a mammalian cell, the protein is
synthesized by

(a) Ribosome.

(b) Golgi.

(¢) Lysosome. .

(d) Smooth endoplasmic reticulum.

In plants, Xylems are responsible for transport
of

(a) amino acids.
(b)  food.

(¢) oxygen.

(d) water.

Asexual reproduction takes place through
budding in

(a) E.coli

(b) Amoeba

(¢) Plasmodium
(d) Yeast
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Rrepradt 1 gmE FE




-y,

56. Sarkaria Commission was appointed to look
into
(a) Centre-State Relations.
(b) Electoral Reforms.
(¢) Judicial Reforms.
(d) Political Reforms.
57. Who among the following has/have coined the
term ‘Bullock Capitalists’ ?
(a) Lloyd Rudolph and Susanne Rudolph
(b) Mary Fainsod
(¢) Andre Gunder Frank
(d) Karl Marx
58. Who among the following was the Chairperson
of the Fifteenth Finance Commission ?
(a) AN.Jha
(b) N.K. Singh
(¢) Anoop Singh
(d) Ashok Lahiri
59. The Vice President of India shall be elected by
the electoral college consisting of the members
of
(a) Lok Sabha.
(b) Rajya Sabha.
(¢) Both Houses of Parliament.
(d) Both Houses with the support of State
Legislatures.
60. Who authored the book titled ‘The Idea of
India’?
(a) Sunil Khilnani
(b) Paul Brass
(¢)  Atul Kohli
(d) Christophe Jaffrelot
SQLH-A-SDP

61.

62.

(15-A)

Which one among the following is not the
power of the National Commission for the
Scheduled Castes ?

(a) To investigate all matters to safeguard
the Scheduled Castes

(b) To inquire into specific complaints with
respect to deprivation of rights of the
Scheduled Castes

(¢) To prepare reports pertaining to the
welfare of the Scheduled Castes

(d) To initiate a judicial enquiry related to
the matters of the Scheduled Castes

Gram Sabha means a body consisting of
persons registered
(a) in the electoral rolls relating to a village

comprised within the area of Panchayat
at the village level.

(b) in the electoral rolls of wards within the
area of Panchayat.

(¢) in the electoral rolls of civic bodies
within the area of Panchayat.

(d) in the electoral rolls of several villages
within a local body.

Which one among the following is not related
to PRAGATI as part of Digital India
Programme implementation ?

(a) Enables faster
Central level projects/schemes

implementation  of

(b) Enables faster implementation of State
level projects/schemes

(¢) Enables faster implementation of local
level projects/schemes

(d) Resolves the grievances between -State
and Central level departments

——
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64. Which of the following is/are core
infrastructure element(s) of Smart Cities
Mission ?

1.  To ensure adequate water supply

2.  To ensure adequate electricity supply

3.  To ensure efficient urban mobility and
transport

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2and3only

(¢) 1and3only

(d 1,2and3

65. Giving access to consumption of sugar as a
source of energy in diet, for the poorest of the
poor sections of the society, has been initiated
under
(a) Antyodaya Anna Yojana.

(b) Annapurna Scheme.

(¢) Targeted Public Distribution System.

(d) Mid-day Meal Scheme.

66. Which one of the following is not correct in
respect of India’s election to the United
Nations Security Council (UNSC) as a
Non-Permanent Member ?

(a) There are 10 Non-Permanent Members
in the UNSC.

(b) India has already served in the UNSC
as a Non-Permanent Member for seven
terms in the past.

(¢) India had lost to Pakistan in an earlier
election to this position.

(d) India has recently been elected for this
position unanimously.

SQLH-A-SDP
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67. Which one of the following statements about

the Finance Commission is not correct ?

(a) It is a Constitutionally mandated body,
set up under Article 280 of the
Constitution of India.

(b) The 14" Finance Commission was set
up in 2017 against the backdrop of the
introduction of GST.

(¢) Its core responsibility is to evaluate the
state of finances of the Union and the
State Governments.

(d) The first Finance Commission was set
up in 1951.

Which one of the following is correct about
‘Surya Rashmi’ ?

(a) It is a scheme of the Government of
India to provide solar power to
households at subsidised rates.

(b) It is an initiative of the Government of
Uttar Pradesh to provide solar power for
irrigation facilities to all the farmers of
the State.

(¢) It is an initiative of the Government of
India to install solar electrifications in
all Government offices and
establishments situated in the New
Delhi area.

(d) It is a publication of the National
Institute of Solar Energy.

Which one of the following is correctly
matched ?

(a) XII BRICS Summit : Moscow
Declaration
(b) XIBRICS Summit : New Delhi
Declaration
(¢) X BRICS Summit Xiamen
Declaration
(d) IXBRICS Summit : Johannesburg
Declaration
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70. Which of the following statements in respect |73.
of India-Bangladesh Joint Summit held on

17 December, 2020 is/are correct ?

1. Both sides reiterated their strong
resolve to eliminate terrorism in all its
forms and manifestations.

2. Both sides emphasized simplifying
people-to-people movement between the
two countries.

3. Filming of the biopic of Sheikh Mujibur
Rahman also figured in the discussion.

Select the correct answer using the code given

below :

(a) 1,2and3

(b) 2 and 3only

(¢c) 1lonly

(d) 1and3only 74.

71. Green Strategic Partnership was entered into

on 28" September, 2020 between India and

(a) Nepal.

(b) Bhutan. 5.

(¢) Germany.

(d) Denmark.

72. Which country will host the 26! UN Climate

Change Conference of the Parties (COP 26) ?

(a) UK

(b) Germany

(¢) Russia

(d) France

SQLH-A-SDP (19-A)

Which of the following statements about the
term ‘Ek Bharat Shreshtha Bharat’ is/are

correct ?

1. It is an idea of sustained -cultural
connect between denizens of different
regions.

2. This was mooted in commemoration of
the birth anniversary of Sardar
Vallabhbhai Patel.

3. It fosters common spirit  of
understanding among different States
and UTs.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2and 3 only
(¢) 1and 3only
(d 1,2and3

Constitution Day is celebrated on

(a) 26" November.
(b) 26 January.
(c) 26 May.

(@ 26™ August.

Which one of the following statements about
BIMSTEC is not correct ?

(a) It is a regional organization comprising
eight member states lying in the littoral

and adjacent areas of the Bay of Bengal.

(b) This sub-regional organization came into
being in 1997 through the Bangkok

Declaration.

(¢) Nepal and Myanmar are members of

BIMSTEC.

(d It is a platform of inter-regional
co-operation between SAARC and
ASEAN members.
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PART -B

PROFESSIONAL SKILLS
76. No appeal under the CISF Rules shall be|80. Which one of the following is not an essential
entertained, under normal circumstances, ingredient of Pass System ?
unless it is submitted within (a) Photograph of the person who wants to
(a) 90 days from the date on which the e:?ter sand _
appellant received copy of the order (b)  Signature verification of the authority
appealed against. whose signature is present on the pass
i i (¢) Checking the date of validity
(b) 60 days ﬁ'om' e date on whic e (d) Address of the person
appellant received copy of the order :
actenlsinastaat 81. Whenever a search of a person and of his
PP i ; belongings is conducted under Section 12 of
(¢) 30 days from the date on which the the CISF Act, which one of the following is not
appellant received copy of the order necessary ?
appealed against. (a) An inventory of the property found on
(d) 45 days from the date on which the such search shall be. given to the person
appellant received copy of the order concerned after obtaining due receipt.
appealed against. (b) The property so found on such search,
shall be sent to the police along with the
; | " person.
77. The .ﬁrst industrial undertaking where CISF (¢) If nothing is found on such search, a nil
was inducted was inventory statement duly signed shall be
(a) HEC, Ranchi. sent to the police along with the person.
(b) RCFL, Mumbai. (d) An inventorﬁr of the groperty found ﬂ(:n
such search shall be given to (2
()  BCCL, Dhanbad. management concerned.
(d) Rourkela Steel Plant. 82. In case of a complaint regarding sexual
harassment at the workplace, an Internal
78. There are many advantages of Motorised Compllamt Cqmmlttee 13 rtlaqmre.d to be
Patrol. But there are some disadvantages also. constatutefl. With regard -to this, which one of
Which one of the following is a disadvantage of the following statements is not correct ?
Motorised Patrol ? (a) A senior level woman officer, working at
' G the workplace, shall act as the Presiding
(a) Because it moves at a fast speed, it is Officer of the Committee.
unable to establish personal contact. (b) Not less than two members from
(b) It can cover larger area in less time. amongst employees, preferably
. e committed to the cause of women or who
(¢) Itis affected by weather conditions. have had experience in social work or
(d) There is an element of physical fatigue. have legal knowledge, shall be the
members of the Committee.
79. Which £ the following i ¢ tial (¢) One member from amongst
2 one ol e FOLOWINE 38,7808 SN0 SEAENUR NGOs/Associations committed to the
component of Improvised Explosive Device cause of women or a person familiar
(IED)? with the issues relating to sexual
(a) Explosive harassment shall be a member of the
Committee.
(b)  Detonator (d) One member from the local police,
(¢) Mechanical timer/Mechanical clock pre'ferably. a woman from the woman
@ ' Powes soiies E{;l;:fnistatemn, shall be a member of the
SQLH-A-SDP (21-A)
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With regard to the event of deployment of
CISF during election duties, which one of the
following statements is not correct ?

(a) They should be absolutely impartial and
ensure that the spirit of the law is not
violated.

Even if the Presiding Officer asks to
arrest, CISF personnel deployed on
duty, cannot make arrest.

(b)

Does not hesitate to use force if there is
instance of booth capturing.

(c)

(d) In the event of attack on the polling
station by miscreants, the CISF will not

hesitate to use force.

Which one of the following does not fall under
the category ‘Biometrics’, meant for personal
identification related to access control ?

(a) Card Reader and Card

(b) Iris

(¢) Fingerprint

(d) Handwriting

What should be the maximum gap between

the wires/metal members in case of fence for
perimeter security to preclude the possibility
of unfettered movement of objects to and from
the facility ?

(&) 87
(b) 6”
() 107
(d) 12"

In case of a strike, agitation or gherao, which
one of the following is not supposed to be a
role of CISF ?

(a) To escort the official under the gherao to
a safe place, if requested by the person

concerned
(b) To extend all possible help to the police
for tackling the situation
(¢) To force the employees to join work
(d) To maintain friendly relations with
employees
SQLH-A-SDP
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Which one of the following is not the role of
CISF when providing Technical Consultancy
Services ?

(a) Planning and designing of
communication network and preparation
of related operating instructions

(b) Preparing plan for increasing the
productivity of the plant

(¢) Conducting audits in the field of
industrial security, industrial safety or
fire safety

(d) Study of industrial security and fire
protection related problems and

suggesting appropriate solutions

The security of Taj Mahal, a world heritage
monument, was entrusted to CISF by the
Government of India

(a) on the basis of directions passed by the
Hon’ble Supreme Court of India.

on the request from the Chief Minister
of Uttar Pradesh.

on the basis of intelligence reports that
it was on the radar of terrorist groups.

when it was declared as a world heritage
monument.

(b)
(c)

(d)

Sainik Sammelans are held in CISF once in a
month. Which one of the following statements
about Sainik Sammelans is not correct ?

(a) It gives the opportunity to unit
personnel to hear about the plan of the
organisation for the future.

(b) It gives the opportunity to unit

personnel for recreation.

(c) It gives the opportunity to redress the

grievances of force personnel.

It gives the opportunity to inform the
unit personnel about the new welfare
schemes for the benefit of the force
personnel.

(d)

Which one of the following is an example of
low explosive ?

(a) Gunpowder
(b) Gelatine

(¢0 TNT

(d) Dynamite

Py
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91. According to the Protection of Human Rights 9.
Act, 1993, who can be appointed as a
Chairperson of NHRC ?

(a) A person who has been Chief Justice of
the Supreme Court of India

(b) An eminent jurist who has outstanding
knowledge of Human Rights matters

(¢) Asitting High Court Chief Justice

(d) The seniormost member of the National
Human Rights Commission

96.

92. A bonafide passenger travelling on a valid
ticket, issued in his or her name is required to
show documents as proof of his or her identity
at the entry point of airport gates. Which one
of the following is not acceptable for the
same ?

(a) Voter identity card
(b) Birth certificate
(¢) Pension card

(d) PAN card

93. At which one of the following airports, was
CISF inducted last for aviation security duty ?

(a) Jammu Airport 97.
(b) Guwahati Airport

(¢) Imphal Airport

(d) Jorhat Airport

94. HHMD should be kept at what distance away 98.

from the passengers ?
(a) 1lem
(b) 2:5cm
(¢ b5Hem
(d) 10cm
SQLH-A-SDP (25-A)

Bureau of Civil Aviation Security has
prescribed deployment of Counter Unmanned
Aircraft System (C-UAS) to protect airspace
from rogue drones in and around the airfields.
What is the approximate area prescribed to be
covered with such C-UAS ?

(a) 5 km radius around the airfield

(b) 10 km radius around the airfield

(¢) 10 km along the approach funnel area
and 5 km radius in other direction of
airfield

(d) 25 km along the approach funnel area

and 10 km radius in other direction of
airfield

In view of the prevailing situation of
COVID-19 pandemic, BCAS has prescribed
several counter-measures. Which one of the
following has not been stipulated by the
BCAS?

(a) The airport operator shall ensure
smooth passenger flow by proper
queuing before PESC point by
maintaining social distancing by having
markers.

Before passing DFMD, the passenger
shall be requested by the load officer to
divest 100% of the metallic objects for
X-ray screening.

ASG/APSU to carry out 100% Pat down
search during PESC.

The plastic tray used for cabin baggage

screening shall be sanitized each time
before it is retrieved for next use.

(b)

(c)

(d)

Where was the first Fire Service Training
Institute (FSTI) in CISF established ?

(a) Hyderabad
(b) Deoli

(¢) Arakkonam
(d) Ranchi

In which of the following private sector units,
is CISF not deployed to provide security ?

(a) Infosys Technologies Limited, Bengaluru
(b) Patanjali Food and Herbal Park,
Haridwar

Reliance Industries Limited, Corporate
IT Park, Navi Mumbai

ITC Limited, Kolkata

(c)

(d)
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99. Which of the following Cargo Consignments
are considered as “Known Cargo” ?

E Cargo consignments accepted from a
regulated agent to which appropriate
security measures have been applied.

2. Cargo consignments accepted directly
from a consignor to which appropriate
security measures have been applied.

3. Unknown Cargo after being subjected to
appropriate security controls which may
include screening.

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(¢) 1and2only

(d) 1,2and3

100. Which of the following sporting items is/are
banned for carriage in personal’/hand baggage
on board flights operating from civil airports
in India ?

1 Cricket bats

2. Pool cues

3.  Golf clubs

Select the correct answer using the code given

below :

(a) 1only

(b) 2only-

(¢) 1and 2only

(d 1,2and3

101. Which of the following amounts to an unfair
labour practice ?

(a) Recruitment of workmen during an
illegal strike

(b) Transfer of workmen from one place to
another according to management policy

(¢) Dismissing a workman involved in a
criminal case

(d) Refusing to bargain collectively in good
faith with a recognized trade union

SQLH-A-SDP

102.

103.

104.

105.

(27-A)

The Central Government may frame a scheme
to be called the Employees’ Pension Scheme
under the Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952 for the
purpose of providing

i Superannuation pension.

2.  Retiring pension.

3. Partial disablement pension.

4, Permanent total disablement pension.

Select the correct answer using the code given
below :

(a) 1,2and3

(b) 2 and 4 only

(¢) 3and4only

(d 1,2and4

Name of which of the following legislations

has been changed in the year 2009 ?

(a) The Employees’ Provident Funds and

Miscellaneous Provisions Act
Workmen’s Compensation Act
Payment of Gratuity Act

(b)
(c)

(d) Employees’ State Insurance Act

National Human Rights Commission is a

(a) Corporate Body.

(b) Constitutional Body.

(¢)  Regulatory Body.

(d) Statutory Body.

Which one of the following is not a function of

the National Human Rights Commission ?

(a) To spread human rights literacy among
various sections of society

(b) To provide economic compensation to
human rights violation victims

(¢) To prosecute and punish the human
rights violator

(d) To intervene in any proceeding involving

any allegation of violation of human
rights pending before a court with
approval of such court
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106. What is the prescribed term of office of the|110.
Chairperson and the Members of the National
Human Rights Commission ?

(a) 5 years or up to 70 years of age
(b) 3 years or up to 70 years of age
(c) 5 years or up to 65 years of age
(d) 3 years or up to 65 years of age

107. The Chairperson of the National Human
Rights Commission can be removed by the
(a) Chief Justice of India. 111.
(b) President of India.

(¢) Parliament of India.
(d) Prime Minister of India.
108. For adjudication of Industrial Disputes, which
one of the following machineries has been
established ?
(a) The Industrial Tribunal
(b) National Commission on Labour
(¢) Labour Committee 112.
(d) Wage Board
109. An “Industrial Establishment” for the purpose
of the CISF Act, 1968 means
1. an industrial undertaking engaged in
Trade, Business and Services.

2. a company defined under the Companies
Act.

3.  a partnership firm registered under the | 113,
Indian Partnership Act.

Select the correct answer using the code given

below :

(a) 1and 2 only

(b) 1and 3 only

(¢) 2and 3only

d 1,2and3

SQLH-A-SDP (29-A)

Under the Indian Penal Code, 1860, which one
of the following statements about “Theft” is
correct ?

(a) It is defined under Section 379 of the

Code.

(b) It applies to both movable and
immovable property.

(¢)  Delivery of property is essential.

(d) Property should be in possession of

someone.

“A” finds a ring lying on the highway and
keeps it with him. Which one of the following
statements is correct ?

(a) “A” has committed the offence of theft.

(b) It is not theft because the ring was not
in possession of anyone.

(¢) It is theft because the intention of “A”
was dishonest.

(d) It is theft because the property is
immovable and “A”s intention is
dishonest.

“A” causes cattle to enter upon a field
belonging to “Z”, intending to cause and
knowing that he is likely to cause damage to
“Z”s crop. “A” has committed the offence of

(a) Theft.
(b)  Mischief.
(¢) Criminal Trespass.

(d) Criminal Misappropriation.
Punishment for Mischief by fire or explosive
substance with intent to destroy house has
been prescribed in which one of the following
Sections of the Indian Penal Code, 1860 ?

(a) Section 436
(b) Section 435
(¢) Section 437
(d) Section 434
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114.

“A” without taking permission from “Z” scales

118.
the wall of “Z”s house at night and enters “Z”s
house through a window. “A” has committed
the offence of
(a) Criminal Trespass.
(b) House Breaking by Night.
(¢) Lurking House Trespass by Night.
(d) House Trespass.
115. Criminal Breach of Trust is defined under
(a) Section 405 of the Indian Penal Code,
1860
(b) Section 403 of the Indian Penal Code,
1860
(¢) Section 415 of the Indian Penal Code,
1860
(d) Section 410 of the Indian Penal Code,
1860
116. A person commits the offence of Criminal
Breach of Trust if he
1. misappropriates the property he is 119.
entrusted with.
2. misappropriates the property having
any dominion over the same.
3. misappropriates with dishonest
intention.
4, converts it to his own use.
Select the correct answer using the code given
below :
(a) 1and3only
(b) 1,2 and 3 only
(¢) 2and4only
(d 1,2,3and4
117. “A” is a warehouse keeper. “Z” is going on a |120.
journey and entrusts his furniture to “A”
under a contract that it shall be returned on a
payment of a stipulated sum for warehouse
room. “A” dishonestly sells the goods. “A” has
committed the offence of
(a) Dishonest Misappropriation of Property.
(b) Criminal Breach of Trust.
(c) Theft.
(d) Dishonest Holding of Property.
SQLH-A-SDP (31-A)

“A” in good faith believing property belonging
to “Z” to be “A”s own property, takes the
property out of “B”s possession. “A” has

(a) committed the offence of Theft because
he has removed the property from ‘B’s
possession.

(b) not committed the offence of Theft
because there was no dishonest
intention.

(¢) committed the offence of Criminal
Breach of Trust.

(d) committed the offence of
Misappropriation of Property.

Which one of the following

Committees/Commissions has given the

recommendation on removing corruption in
public offices ?

(a) Santhanam Committee

(b) Rajamannar Committee

Sarkaria Commission

(c)

(d) Venkatachaliah Commission

Under the Prevention of Corruption Act, 1988
“Gratification” means

(a) pecuniary gratification only.

(b) non-pecuniary gratification only.

(c) gratification estimable in money only.

(d) not restricted to pecuniary gratification

or to a gratification estimable in money.
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121. According to the Prevention of Corruption |123.
(Amendment) Act, 2018, who among the
following can be held liable ?

: 15 Any person who induces a public servant
to perform improperly a public duty by
giving or promising to give any undue
advantage
2. Any public servant who obtains or
accepts or attempts to obtain from any
person any undue advantage
b 3. A person who is compelled to give undue
advantage and has reported the same to 124
" the concerned authority P
4. A commercial organisation offering
undue advantage to any public servant
Select the correct answer using the code given
below :
|
(a) 1and 2 only
(b) 3 and4only
P (¢) 1,2and4only
(d 1,2,3and4

122. The power of the police officer to seize certain
property has been given under 125.
(a) Section 102 of the Criminal Procedure

' Code, 1973.
(b) Section 101 of the Criminal Procedure
Code, 1973.
(¢c) Section 103 of the Criminal Procedure
Code, 1973.
(d) Section 104 of the Criminal Procedure
Code, 1973.
SQLH-A-SDP (33-A)
]
| . ,

Under which Section of the Criminal
Procedure Code, 1973, may a Magistrate
direct search in his presence ?

(a) Section 102

(b) Section 103
(¢) Section 104
(d) Section 105

Power to search a place entered by a person
sought to be arrested has been provided under

(a) Section 47 of the Criminal Procedure

Code, 1973.

(b)  Section 45 of the Criminal Procedure
Code, 1973.

(c) Section 46 of the Criminal Procedure

Code, 1973.

Section 48 of the Criminal Procedure
Code, 1973.

(d)

Which Section of the Criminal Procedure
Code, 1973 makes provision regarding search
of the arrested person and making an
inventory of the articles found upon him ?

(a) Section 49
(b)  Section 50
(¢)  Section 50 A
(d) Section 51
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1872 I U 113B % AHH A yog
I R B 2

(a) Tivemas @@

() fafty i Igaron

(c) WhIg STESHT ITLTM

@ Froams gga 3 erEe (Af-fees)

g | fufm, 1872 % Hey # 9 R
wg ¥ fefafga 7wt & & 981 39 w6 ¥4
¥ gafea 787 2 2 |

(@ 9T 113A : fdft foefea &t gm
HATCHET & GHT F aR |
ITYR

(b) U 1T4 A : SATCET hi ITYR

(¢ HW 112 : &= & ydod (dyar) i
IR

(d) YW 114 : YRAE < Hfgar & [HH
G 3{9aTel <hl ITEROT

132. H2 el guen s sifufem, 1968 i

R 8 % IdM Hg ot g s
(CISF) % Amifha @aedi H  ve=gfd
(feaftmer), &a1 & gog b st (foga),
anfe foress arefia 2 2

(a) WG % Gleu™ F T8 311%F

(b) T AW F Fdld Fg TWHER G
TTe T fmi %

TS TR gRT =41C 7T f4mi &

R % dfaum #1 g9 311 IR W
ffufem & I@lad g THR g 1Y
Mo U 3= et &

(c)
(d)




126. Rule making power to carry out the purpose of
the Central Industrial Security Force Act,
1968 is given to the Central Government
under which one of the following Sections of
the Act ?

(a) Section 22
(b)  Section 23
(¢) Section 21
(d) Section 20

127. Content of a document under Section 61 of the
Indian Evidence Act, 1872 may be proved by
(a) primary evidence only.

(b) secondary evidence only.
(¢) primary or secondary evidence.
(d) oral evidence only.

128. “A” is found dead in mysterious
circumstances. The question is whether the
death of “A” was caused by poison or not.
Relatives are claiming that the death is
natural. Whose opinion would be relevant as
per Section 45 of the Indian Evidence Act,
1872 ?

(a) Opinion of family members
(b) Opinion of friends

(¢) Opinion of advocates

(d) Opinion of experts

129. “Evidence” under the Indian Evidence Act,
1872 includes
(a) oral evidence.

(b) documentary evidence.

(c)  both oral and documentary evidence.

(d) oral evidence based upon personal
reading of documents.
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When the question is whether a person has
committed the dowry death of a woman and it
is shown that before her death she was
subjected to cruelty or harassment in any
connection with the demand for dowry,
the presumption of dowry death under
Section 113 B of the Indian Evidence Act, 1872

would be

(a)

conclusive proof.

(b) presumption of law.
(¢) anon-rebuttable presumption.
(d) conclusive proof and non-rebuttable.

Which one of the following pairs of Section and

Clause with regard to the Indian Evidence

Act, 1872 is not correctly matched ?

(a) Section 113 A : Presumption as to
abetment of suicide by

a married woman

(b) Section 114 A : Presumption of Rape

(¢) Section112 : Presumption of
legitimacy of child

(d) Section114 : Presumption of general

exceptions under IPC

Dismissal, removal, etc. of enrolled members
of CISF under Section 8 of the Central
Industrial Security Force Act, 1968 is subject
to

(a) Article 311 of the Constitution of India.

(b) the rules framed by the Central
Government under this Act.

(¢) the rules made by the State
Governments.

(d) Article 311 of the Constitution of India
and such other rules as framed by the

Central Government under this Act.



133.

134.

F=1g Ifenfies g 9@ (CISF) & deedi i

form umn & oreflm are & fomm et safes =1

firear @ 6t wifts g @ 2

(a) For Al gen g sfufem,
& gmT 10

(b) Hd 3Nt guan s Srfafam,
Y[ 11

(c) g fenfies gam o afufem,
& 9T 12

@ F i gen sa st
&t gr 13

1968
1968
1968

1968

Fo i e se orfufem, 1968

g1 15 A, 96 & "eet @i foma nfafafirat 2g

fdftm () it 2 2

1. #3899 (TEfeeE) =9 &

2. el 3= gfem, s IR swen
T §5 1 Ge= ¥4 8

3. et Ul dramedl, TEw, 99 H¥ET @A
H e 1 Y, 8 w9 w1 am R F
w9 H qryar A8 & 2

4. Tt o8 ge, @EmEd, gen sEr 99
=1 T 89 ¥ St gula: amnfomss, BT
HYa1 A JHid hi 3

H= fau T Fe w1 W W FE W g

(a) 1,2,33M4

(b) Had 1,23 3

(¢) had 23R 3

(d) Fad 13 4

135. = s gam & (CISF) 1 &5
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Tmifhd Hew AR b i g s@
Afufem, 1968 it urr 8 & 3efiw faw v fore
ATCW ¥ AT 7, d 98 fohar feAt & ot 34
ey & fowg orfiet wega X wha B 2

(a) 3s0f&

(b) Tk HIE

() 60f

(d) o= wE

136.

137.

138.

139.
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foreft e it i ot @ifde e
(eThedfes woe @i gfve) grr e aftormsi
%! Frefofiga 3 | fored ddta e sTan @ 2
(a) TFH T (IR)

(b) W HEX (PC)

(c) TR (ACC)

(d) WA TgH T (MAR)

fordt Frger foem # % 32-fee wgw W@
frafeafaa & @ fFa wgm &t gt 2 2

(a) 32 AW SAhI=

(b) 2°% Ault ArhI

(c) 32° TuHl dArhyg

@ 328 UMY SArheE

foreft e foem o MR o O &
TR JFaia (TEW) & & fae @dtg, (cpu)
%ﬁmﬁﬁaﬁﬂﬁ.ﬁaﬁeﬁwmw
5
(a)
(b)
(c)
(d)

Bl y3q (fg) 3k fwid w1 & forn i@
g—ﬁafﬁmﬁ%&wwmﬁmm

9
(a)
(b)
(c)
(d)

MDR 3R IR
PC 3R IR
MAR 3T MDR
IR 3T MAR

IS G TH
G JhT
QUL ST

G TH

frafafea Mefifeal § @ =8 =R
renfirht 777 2 2

(a) Sferass Senfieht

(b) TS (FaE) Srenfieht

(¢) Iforem drenfieht

(d) it srenfieh



133. CISF members have power to arrest any

' 135.

134.

person without warrant under

(a) Section 10 of the Central Industrial
Security Force Act, 1968.

(b) Section 11 of the Central Industrial
Security Force Act, 1968.

(¢) Section 12 of the Central Industrial
Security Force Act, 1968.

(d) Section 13 of the Central Industrial

Security Force Act, 1968.

Section 15 A of the Central Industrial Security

Force Act, 1968 restricts members of the force

to

1.  form any association.

2. be a member of any trade union, labour
union or political association.

3.  be a member of any society, institution,
association or  organisation not
recognized as the part of the force.

4. be the part of an organisation, society,
institution or association which is purely
social, recreational or religious in
nature.

Select the correct answer using the code given
below :

(a) 1,2,3and4
(b) 1,2 and 3 only
(¢) 2and3only
(d) 1and4only

An enrolled member of CISF aggrieved by an
order made under Section 8 of the Central
Industrial Security Force Act, 1968, may file
an appeal against the order within

(a) 30 days.

(b) one month.

(c) 60days.

(d) three months.
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Which one of the following stores the results
produced by arithmetic and logic unit of a

computer ?

(a) Instruction Register (IR)

(b) Program Counter (PC)

(¢) Accumulator (ACC)

(d) Memory Address Register (MAR)

In a computer system, a 32-bit address bus
can address

(a)
(b)
()
(d)

32 memory locations.

232 memory locations.
322 memory locations.

328 memory locations.

In a computer system, which of the following
two registers are used by the CPU to transfer
the data between processor and memory ?

(a) MDR and IR
(b) PCandIR

(¢) MAR and MDR
(d) IR and MAR

What is the medium used in optical storage
systems for reading and recording data ?

(a) High-energy visible light

(b) Laser light
(¢c) Ultraviolet light
(d) Black light

140. Which one of the following technologies is not

(37-A)

a touch-screen technology ?

(a) Resistive technology
(b)  Surface technology
(¢) Inductive technology
(d) Capacitive technology
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145.
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frfafiga § @ ®F-a1 ymeT @ 87.34 H

qc9 8421BCD %2 8 ?

(a) 10000111.00110100
(b) 10100111.00110100
(©  10001110.11000010
(d 10101110.11000010

fafafgs & @ =T wesw e
(Rea-2ftmer) @& 4A9.2 W I SNHeE
TaR?

(a) 1192.125

(b) 1193.125

(¢) 1192.0125
(d) 1193.0125

Hfeg-afmm fren (age-ddfeg fosem) §
frafafgs & & st foe, fog fae (s foe)
% fou mféa 2 2

(a) UA.TE.Sfl. (LSB)

(b) TH.TE.E. (MSB)

(c) e &9 ¥ foei 1 gem

(@) R AR A gEd fae

greT 5UEw % foe q@ uew % w9 # frefoiaa
fefSreet uftayi # @ forger wam foan S 2 2
(a) TR

(b) HRX

(c) TFI9-goq

(@) =g (fesss) At @

frfafigs & @ S g gLan &y wEE
22
(a)
(b)
(c)

(d)

ISO 9001
ISO 14001
ISO 27001

ISO 17025

(38

146.

147.

148.

149.

150.

_A)

FIR Aeah W giftra ger & fog Freafafaa
o ¥ fopm idreniar 1 3ugm foRa Smar 8 2

(a) HTTP

(b) DHCP

(¢c) SMTP

(d) HTTPS

frefafga @ @ sha dfsed mtes
Uemften 77 2 2

(a) RSA

(b) fehi-gaRT (Diffie-Hellman)

(¢c) DES
(d) DSS

frafafga & @ a1 e aiweaw 777 2 2
(a) IHTE

(b) T

(© fI= s 10

d) MRS

Yo wyE uRuy  (FERvHE afbe) @
FEATT 2, S 95d € $Fge A 7 § foreft
¥ a0 g g1 @ 3 IW UHA I1eYE
AR § AT ® 2

(a) WedATaET

(b) SrhIEt

(c) TThIST

@ SaedtaE

frafafes # @ s 90 el §9 3 @
TG F & o g At @ 2

(a) STEHE AWK

(b) shstl Au

(¢ 3 A

(d YA veEw wEr
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Which one of the following is the equivalent
8421BCD code of the decimal number 87.34 ?
(a) 10000111.00110100

(b) 10100111.00110100

(¢) 10001110.11000010

(d) 10101110.11000010

Which one of the following is the equivalent

decimal value of Hexadecimal number 4A9.2 ?
(a) 1192.125

(b) 1193.125

(c) 1192.0125

(d) 1193.0125

Which one of the following bits is reserved for

the sign bit in  signed-magnitude
representation ?
(a) LSB
(b) MSB
(c) Exactly the middle of the bits
(d) Second bit from left side
144. Which one of the following digital circuits is
used as the basic component for storing data ?
(a) Register
(b) Counter
(¢)  Flip-flop
(d) Derived logic gates
145. Which one of the following is an Information
Security Management Standard ?
(a) ISO 9001
(b) ISO 14001
(¢) ISO 27001
(d) ISO 17025
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Which one of the following protocols is used for

secure  communication over computer
network ?
(a) HTTP
(b) DHCP
() SMTP
(d) HTTPS

Which one of the following is not -a public-key

cryptographic algorithm ?
(a) RSA '

(b) Diffie-Hellman

(c) DES

(d) DSS

Which one of the following is not a system

software ?

(a) UNIX

(b) LINUX

(c) WINDOWS 10
(d) AUTOCAD

A combinational circuit that selects binary
information from one of many input lines and
directs it to a single output line is known as

(a) Multiplexer
(b) Decoder
(¢) Encoder

(d)

De-multiplexer

Which one of the following memories is used to

store data permanently ?
(a) Primary Memory
(b) Secondary Memory
(c) Cache Memory

(d) Random Access Memory
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